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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and
presentations. Which principle of learning is he/she following? / o a1 oEl
1 T AT 9oTar § AR 30d it weat AR geqfaat & ary e F e Fgar
¢ | mfaf@a # % gz fw Rgura #1 3T #7 w8

1. Transfer of learning / 3TTITH T §EATAROT

2. Help in reconstruction /gaﬁuq‘rwﬁaqaa

3. Active participation / Efsha HgHTRTdT

4. Learning as a social activity / TG TTAfafy o =0 # 3fferd

Correct Answer :-

. Active participation / GfohT TgaTfarar

2) What is the most important thing a child should learn from his failures in

school performance / T& §=9 FI fagamerd & ygela # o=l srawaanat
¥ FI@ Ageaqol a1 F41 Wgelr afger

1. To approach challengers with multiple perspectives. /Eh_é ciSeaIu & ﬂﬁ?ﬁ
¢ol aTell & HHNT 3T

2. To change their subjects. / 3191 [d9IT I FEleT|

3. To work on time Management skills. / TFT TS il 9T H1H FAT|

4. To memorize the one right way of achieving success. / THAdl U & gl AR Bl
Yl XG-T|

Correct Answer :-

« To approach challengers with multiple perspectives. /Eh_é gfSearon o ﬂfﬁ?—ﬁ
¢ol aTell o FHIT 3T



3) Who measured personality based on the two dimensions- extroversion and

introversion? / fFsr AfPded & NTFholel FI qET 3 NARF a7 TATAT
¥ AuRa Far?

1. Cattells/ heel
2. Eysenck/31TS$&h
3. Freud/ IS

4. Bandura/ a_g'J\TI'

Correct Answer :-

. Eysenck/3T58%

4) can be used to conduct both formative and summative

assessment. / &1 39T AATHAS 30T AMcA® Addd QAT
N F@ & T FAr ST gFar

1. Homework / ?c[gaﬂ?fr

2. Evaluation of teacher effectiveness / T16Teh FTaRMNeIdr ahr ?FJ\FJIW
3. Portfolios / QYCWhIToraT
4. Self-assessment of students / BTAT ST TI-3Tholed

Correct Answer :-

. Portfolios / GIcHhIforaT

3) has developed a sociocultural approach to cognitive development. /

S gAECHAS e & v e Ay tResor e
farar B
1. Lev Vygotsky / fola argancadhr
2. Erik Erikson / TR el
3. Jean Piaget / STl T gTaY

4. Jerome Bruner / A &FeIX

Correct Answer :-



. Lev Vygotsky / fola arsanicadhr

6) Children can be fully toilet-trained by the age of ./ TEET Y $r
3 o T4 X & AiteErera-aiiae fhar o awar g

1. One year / T a¥

2. Two years / aray

3. Three years / diiel a¥
4. Four years / IR @y

Correct Answer :-

. Three years / dieT ¥

7) What type of theory of development does Erikson propose? / Reda o
fFa vovr ¥ e & Reua & gfanfea fFFar

1. Cognitive theory / HallellcHe AU

2. Learning theory / 3718918 @E\‘EIIFT

3. Psychosexual theory / Hailetldleh THGETT

4. Psychosocial theory / HAAIATATGIh THEETd

Correct Answer :-

. Psychosocial theory / HAGTATGIH i?lafiil’l(-l

8) What is meant by Classical Conditioning? / AT Jhele (FelAher
HINATAI) FT AdAT FAT 872

1. A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T 3xiotell, Teh FTAfehaT I AcAIGd HIeT I & T
UIed Xl § S 7ol & § Teh 3R Iciolell GanT YicHTigd T aTg glal
gl

2. A stimulus loses the capacity to evoke a response which was originally evoked by

another stimulus. / T 3dolell, Ueh FTAfehdT I Acarfgd el Sl & AT
@l &t & S H{T §9 § Uk 3R 30T gaRT icHTigd @ 1S gl &




3. A voluntary response is lost due to a negatively reinforcing stimulus. / "TshRTcHh

G § AT FA dlell 3dotell & HRUT FdfTos gfafemar @ s g

4. A voluntary response is followed by a reinforcing stimulus. / Teh rafcos
gfafsrar & a1 U AT 3ol gl gl

Correct Answer :-

« A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T 3xiotell, Teh UTAfehaT I WG FIeT I &7 T
IICT Il & S Hel & F Teh 3R 3cotell GaRT Weqried T 5 gl
el

9 What memory is used to remember how to make a paper plane? / U
T dA & aF F A6 @A F Qv Fw Syfa F1 sv@er Far s
87

1. Echoic memory / 9fatafad Q-T[%

2. Iconic memory / HW Fﬂ_ﬁ

3. Semantic memory / 2Ts&TY 1-71'%

4. Procedural memory / UfshdTcHsh Fﬂf—f

Correct Answer :-

» Procedural memory / JfshaTcH® T

10) What is the term used to describe the person that a child observes and
possibly imitates in observational learning? / 38 If@d #T fAaIor F:3A &
foaw o ereq &1 gver fRam Smar § o s=am Sarofir srfeers F Ofara
AT § WHAT: 3T dAhed SARAT &7

1. Adult / IIEH
2. Model / HASd

3. Prototype / GIeIersg

4. Teacher / T2reTsn

Correct Answer :-

. Model / ATSST



11) What could be the best way for a teacher to motivate children in the early-
adolescent years to go improve academic performance and develop interest in

school? / Tk f%m%ﬁrcaﬁﬁmaymmmﬁm
yedie # guR & 3R fagamey # s el &= § v e &=
FT U ST dldT FAT & THhdT &2

1. Increase peer pressure and competition / TgITSN HT GaTd 3R gfaeadt
dglehy

2. Induce fear of tests, scores and failure through learned helplessness / 31897
TETIAT & ATETH A GI6Tum, 3iehi 3 37THIdT & ST T HH

3. improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 37T &T1AT T TREIAT
fafad e 3R 3T dlgfte &THAST # McATIRaTH Jgeh 3TdRe
9RO & FUR &

4. Provide rewards and incentives / &P 3R dicageT ¢l

Correct Answer :-

« improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 37T &TAT 9T TR
faerfad e 3 IeTehl Sigften &THANN # McATIRAN el 3TdRe
9RO & FUR &

12) Extreme deficits in social understanding is common in what childhood
disorder? /

aAIfod GHST & FAAF HAY, sredEaedT & Fg [AeER & o= g2
1. Dyslexia / fS¥eifeaar

2. Dyscalculia / fSEheerg I3

3. ADHD / TSITTal (A= d g fadfshaar f[aaR )

4. Autism / 3TfeSH )3TcATIHAE(
Correct Answer :-

. Autism / 3eCFH )IHTATIAE(



13) Humanistic theory of personality is proposed by: / fddca &1
ATTqarars) AT sa@ ganT yFarfaa fFar aar o

1. Abraham Maslow / 3TSTgH HTEA
2. Carl Rogers / @Tel IJroTdl

3. Pavlov / 9Tdalld

4. Carl Jung /Wﬁﬂ"’[

Correct Answer :-

. Abraham Maslow / 3TSTgH HTEA

14) Schooling is an important requirement for children when they are

administered this test. / STd ddl HY g GAEIOT AT ST dd 3T l-ﬂim
Il UF Hgeaqul MaTFT ¢

1. Verbal intelligence test / Hl & mﬂ gI8ToT
2. Personality test / STadcd TR&TOT

3. Culture-fair test / ed-hIT GIIETOT

4. Performance intelligence test / geTeT %Ej@' qvaToT

Correct Answer :-

. Verbal intelligence test / HITE® sleTahdr GI&TOT

15) Changes that are not due to learning can be attributed to: / IRacdeT it
IHTATH F FROT 78f &, 306 59 AT FFASR SEI™AT T T £

1. Maturation / Qﬁqa—‘clT-IT
2. Skills / Sh1QTeT
3. Social influence / AT THTT

4, Cultural influence/ F@fﬁ? JHTT

Correct Answer :-

« Maturation / GIRIeFadT



16) The term Familial factors refers to influence of ./ 9IREIR® FRE
ereg & YHT F Heid HLar gl

1. family members / 9TRATR& &g

2. school environment on learner/ fI&TT 9 1%?311?4?1 & Fﬂﬁ?{
3. facial expressions/ gl o T

4. friend/ fAF

Correct Answer :-

. family members / 9TRATR& &I

17) The role of heredity starts in an individual’s life at the time of .

ammma?raﬁwﬁmﬁwﬁ?ra;sﬁaﬂ# & AT A YT
Bﬁ’r%l

1. Going to school / TacITe STl
2. Maturity / 9R9eFadr

3. Conception / ITST&IOT

4. Birth / SledH

Correct Answer :-

. Conception / ITHEROT

18) A hearing loss between the range of 41 to 60 decibels is known as

hearing impairment. / 41 & 60 Qe Y WA F AT g arel TEUA Hr
AT A & T H AT SATaT ¢l

1. Moderate / #EIH
2. Profound / 9Tged

3. Mild / Gl

4. Severe / ol

Correct Answer :-

« Moderate / ACIH



19) Law of Effect was introduced by ./ 93T g &1 forg s & GaRI
Y& T I |

1. Thorndike / UT1SISHh
2. Skinner / FEha¥

3. Kohler / SIgelX
4, Pavlov / FICEIG)

Correct Answer :-

. Thorndike / ATASTSH

20) 1n inclusive pedagogy, computer is used . | gaETaedY fRvaqoremeT #,
FCIST FT 3TANT farar e B

1. To motivate the learner / &S & ART F & T

2. To provide feedback / ITAThAT YT i & forT

3. All of these / 3uerd @l

4. To interact with the learner / &It & AT STAdT =t & foIw

Correct Answer :-

. All of these / :mjar?r T

21) Which of the following is not associated with chunking? / A&ifaf@a &
¥ Fla & afhT & gagy aE

1. Meaning / 379

2. Miller / AR

3. Grouping of seven / HId &I HHg

4. Long term memory / ABEJIGEED Fﬂ'ﬁ

Correct Answer :-

. Long term memory / &Ieiehlfeleh Hﬂ'ﬁ



22) Which of the following is not a product of learning? / fA=faf@a & &
i 3t F1 v aRoma ad 82

1. Knowledge / fagar

2. Physical structure / $ifaeh T
3, Skill / DA
4. Maturation / URge&dl

Correct Answer :-

. Maturation / URU&Hdr

23) Which of the following points is not consistent with John Dewey’s
approach? / AFfaf@a & @ aﬁa—mﬁgaﬁgé & Tieeaior a?ﬂw
el 87

1. Child is an active learner not a passive observer. / g<dl T Tl

ITERTHSAT & S Teh ATSHT VeTh 8T gl

2. Human beings learn through a 'hands-on' approach. / HelST ‘?3?—3—1\117-[ ’
gieaIor ¥ 3T = B

3. Learning should be relevant and practical, not just passive and theoretical. /

A, grafae 3R caraeRe g a1fee, o 6 o Aftwy 3R
Hewifas|
4. The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. / TarR a8 § & cafead o9 gl & 3®«+ gerar
g, 34T 3T Sedl § TG HT el

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. / TaaR Ig § T =afea ow Tl a1 3¥% ggdar
g, 39T 37T Fedl ¥ TG HT |

24) Which of the following development stages is part of Kohlberg’s theory of
moral development? / AFITAf@T & ¥ FiT a1 FFA =T, Fgaad &

AMor Rew & gy #1 R 2

1. Punishment and obedience orientation/ ST 3T 3TATRIRAT 5c-d:|749'\lch{UI




2. Interpsychological/ eITTShIcl ToTehel
3. Sensorimotor/ TTLTHIET

4. Young adolescent/ T [EIEY

Correct Answer :-

. Punishment and obedience orientation/ Tl 3 3TATRIRAT E@WUT

25) Which one of the following is not a process of memory? / feRa & &
i W Ffa @R i wF uftkar 736t 82

1. Retention / 3TGROT (R2AT)

2. Re-planning / 9eT:faaetal (R-cerfetar)
3. Recall / TFR0T (Repten)

4. Learning / 311 (@1fsian)

Correct Answer :-

. Re-planning / gﬂ:ﬁaﬁaﬂ (R-carfetar)

26) Which type of parenting is characterized by emotional detachment? / f&&®
YHR FT ITAA-9190T, HTGATcHS Ho9na i fIeraqorar g2

1. Uninvolved parenting / 3-1?3?{?-1' qTele] gIyoT

2. Authoritative parenting / 31T UTeleT-GIvoT
3. Dual worker parenting / &<l HfHeh YTeleI-qIyoT
4. Single parenting / Tehol UTelel-9IYUT

Correct Answer :-

. Uninvolved parenting / 3HeGY UTelsl GIYOT

27) To improve class discipline, the teacher has to: / &Il o) a?;enwr Ca)
IR F & fav, e o

1. Call parent teacher meeting to discuss the situation. / T&Ifd X AT el &
forw fFeTaes-fAaTe sod & ST arfgu|



2. Note specific instructions of class rules in the diary. / STII H HaTm FI#AT &
fAéer @ fafise &9 & s wET @R

3. Evaluate his/her methods and approaches and material./ 379eiT gt g
gSeenIuT 3N T 1 Hedished AT T1fRT|

4. Consult the class and agree upon a series of punishment./ FH&T & QRIAY AT
3R 3 &I U @l W A gleAl AT

Correct Answer :-

. Evaluate his/her methods and approaches and material./ 3791 fafeat g
giSeenIuT 3N el 1 Hedished AT @1fRT|

28) A 5-year-old child can differentiate his mother from a dog. This is due to which of the
following cognitive processes? [/ 5 T HI ddl 3=t |i &I Tdh ﬁ T 3T B Jhdl
21 g fufafaa samTes ufpareh § 3 feas srur g2

1. Concept /3TTYUROT
2. Attention / 3199l
3. Sensation /gdcaTT
4. Perception / T¢I

Correct Answer :-

« Concept /3ITYURUT

29) Bipolar disorder also used to be known as: / f§¢{[dl fdPR (STgUIR
fEwaiieR) ®t 39 AW § WY o7 wrar @:

1. Antisocial personality Syndrome/ 3 THITSI% Afadea A
2. Messiah Disease/ FGIGT 3T

3. Manic-depression/ JTgT 3dHIG

4. Munchausen syndrome/ HsTg[deT g
Correct Answer :-

« Manic-depression/ 98T IdHIG



30) Which of the following situations show aptitude for verbal comprehension? /
fmafaf@a & & Fia & WRiTafaar, #AfEs g F o affgh gufd
&7

1. Writing a poetry. / Teh &iddl @]

2. Listening and reacting to a friend’s problem. / fr&Y 8T &1 FHEEIT &1 Gotoll
3R gfafsear ol

3. Acting in a school play. / Teh ﬁEEITFl'dT dAesd H JATT HLET|
4. Giving a speech in class. / & H $TYUT CalT|

Correct Answer :-

. Listening and reacting to a friend’s problem. / T8 fAT &r gaAETT *i Gotell
3R gfafsar o

Topic:- General English(L1GE)

1) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a
narrow river. The Confederate troops were led by the most revered military tactician in
American history, General Robert E. Lee. The Union soldiers were led by "Fighting" Joe Hooker.
In appearance, personality, and lifestyle, these men were perfect opposites. Lee, an older man
in poor health with a gray beard, had a somber, measured demeanor, was devout and
principled. Hooker was a blond, strapping young man and was known for his rollicking
enjoyment of both women and whiskey. Despite the fact that the Confederacy had won the last
four major battles and the Union soldiers were famished, exhausted, and demoralized, Hooker
proclaimed, "My plans are perfect”. Why was Hooker so confident? He used spies, analysts, and
even hot air balloons to compile a vast amount of intelligence about Lee’s army. He had
discerned that Lee had only 61,000 men to Hooker’s own 134,000. Buoyed by his superior
numbers, Hooker covertly moved 70,000 of his men fifteen miles up and across the river, and
then ordered them to sneak back down to position themselves behind Lee’s army. Satisfied with
his advantage, Hooker was convinced that Lee’s only option was to retreat to Richmond. Yet
despite his disadvantages of both numbers and position, Lee did not retreat.

What can be devised about General Lee from this passage?
1. He could have made better plans for fighting the war.

2. He should have retreated instead of fighting.

3. He was a scatter brained person who knew how to fight.

4. He was a practical and principled man who knew the tactics of war.

Correct Answer :-

» He was a practical and principled man who knew the tactics of war.



2) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a
narrow river. The Confederate troops were led by the most revered military tactician in
American history, General Robert E. Lee. The Union soldiers were led by "Fighting" Joe Hooker.
In appearance, personality, and lifestyle, these men were perfect opposites. Lee, an older man
in poor health with a gray beard, had a somber, measured demeanor, was devout and
principled. Hooker was a blond, strapping young man and was known for his rollicking
propensity for both women and whiskey. Despite the fact that the Confederacy had won the last
four major battles and the Union soldiers were famished, exhausted, and demoralized, Hooker
proclaimed, "My plans are perfect”. Why was Hooker so confident? He used spies, analysts, and
even hot air balloons to compile a vast amount of intelligence about Lee’s army. He had
discerned that Lee had only 61,000 men to Hooker’s own 1,34,000. Buoyed by his superior
numbers, Hooker covertly moved 70,000 of his men fifteen miles up and across the river, and
then ordered them to sneak back down to position themselves behind Lee’s army. Satisfied with
his advantage, Hooker was convinced that Lee’s only option was to retreat to Richmond. Yet
despite his disadvantages of both numbers and position, Lee did not retreat.

How many men did Hooker position behind Lee's army?
1. 64,000

2. 70,000

3. 1,34,000

4. 61,000

Correct Answer :-

3) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a
narrow river. The Confederate troops were led by the most revered military tactician in
American history, General Robert E. Lee. The Union soldiers were led by "Fighting" Joe Hooker.
In appearance, personality, and lifestyle, these men were perfect opposites. Lee, an older man
in poor health with a gray beard, had a somber, measured demeanor, was devout and
principled. Hooker was a blond, strapping young man and was known for his rollicking
propensity for both women and whiskey. Despite the fact that the Confederacy had won the last
four major battles and the Union soldiers were famished, exhausted, and demoralized, Hooker
proclaimed, "My plans are perfect”. Why was Hooker so confident? He used spies, analysts, and
even hot air balloons to compile a vast amount of intelligence about Lee’s army. He had
discerned that Lee had only 61,000 men to Hooker’s own 134,000. Buoyed by his superior
numbers, Hooker covertly moved 70,000 of his men fifteen miles up and across the river, and
then ordered them to sneak back down to position themselves behind Lee’s army. Satisfied with
his advantage, Hooker was convinced that Lee’s only option was to retreat to Richmond. Yet
despite his disadvantages of both numbers and position, Lee did not retreat.

After reading this passage, you can conclude that Hooker was

1. hopeful



2. vain
3. disliked

4. ignorant

Correct Answer :-

4) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a
narrow river. The Confederate troops were led by the most revered military tactician in
American history, General Robert E. Lee. The Union soldiers were led by "Fighting" Joe Hooker.
In appearance, personality, and lifestyle, these men were perfect opposites. Lee, an older man
in poor health with a gray beard, had a somber, measured demeanor, was devout and
principled. Hooker was a blond, strapping young man and was known for his rollicking
propensity for both women and whiskey. Despite the fact that the Confederacy had won the last
four major battles and the Union soldiers were famished, exhausted, and demoralized, Hooker
proclaimed, "My plans are perfect”. Why was Hooker so confident? He used spies, analysts, and
even hot air balloons to compile a vast amount of intelligence about Lee’s army. He had
discerned that Lee had only 61,000 men to Hooker’s own 134,000. Buoyed by his superior
numbers, Hooker covertly moved 70,000 of his men fifteen miles up and across the river, and
then ordered them to sneak back down to position themselves behind Lee’s army. Satisfied with
his advantage, Hooker was convinced that Lee’s only option was to retreat to Richmond. Yet
despite his disadvantages of both numbers and position, Lee did not retreat.

What would be the synonym for propensity?
1. Conviction

2. Proclivity

3. Repugnance

4, Abhorrence

Correct Answer :-

e Proclivity

5) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes
it so much more entertaining than a lot of rides. I mean, how often do you hang from that high
up in daily life? Nevertheless, I don't seek Ferris wheels out because of their excitement.
Rather, I find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the



park. You also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Pick a word from the options given below to indicate a synonym for entertaining:
1. Boredom

2. Hilarity

3. Compelling

4, Amusement

Correct Answer :-
» Compelling

6) Read the sentence carefully and choose the option that has an error in it:
She is my cousin sister.

1. No error

2. She

3. cousin sister.

4. is my

Correct Answer :-

e cousin sister.

7) Report the following statement.

My mother said to me, "You are not hard working."
1. My mother told me that [ was not hard working.

2. My mother told me that you are not hard working.

3. My mother told me that I am not hard working.

4. My mother’s told me that you were not hard working.

Correct Answer :-

* My mother told me that [ was not hard working.

8) Fill in the blank with the correct option in the given sentence:
When a doctor is convicted of --practice, he could be imprisoned.

1. mal --

2.im --



3. dis--
4, non --

Correct Answer :-
e mal--
9) Fill in the blank with the correct option in the given sentence:

There were many music-- who attended the ceremony with eminent scient --.

1. --s ... —ifically
2. --ians ... —-ists
3. -—-ian .. —-ist
4. --als ... --ific

Correct Answer :-

e --ians ... --ists

10) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes
it so much more entertaining than a lot of rides. I mean, how often do you hang from that high
up in daily life? Nevertheless, I don't seek Ferris wheels out because of their excitement.
Rather, I find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the
park. You also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Why did the author prefer the Ferris wheel to a roller-coaster?
1. Many people could ride on it.

2. It was gentle.

3. It was very fast.

4, It was meant for little children.

Correct Answer :-

» It was gentle.

11) Read the passage below and answer the question that follows:



Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes
it so much more entertaining than a lot of rides. I mean, how often do you hang from that high
up in daily life? Nevertheless, I don’t seek Ferris wheels out because of their excitement.
Rather, I find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the
park. You also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Why did the author find it entertaining to ride on the Ferris Wheel?

1. At the top of the Ferris Wheel, he could see the attractive place of interest around the park.

2. When he was going round and round, he saw the people nearby in a blur and that excited him.
3. He loved riding round and round in the Ferris Wheel till he became dizzy.

4. There was nothing more thrilling or exciting that riding on a Ferris Wheel.

Correct Answer :-

» At the top of the Ferris Wheel, he could see the attractive place of interest around the park.

12) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes
it so much more entertaining than a lot of rides. I mean, how often do you hang from that high
up in daily life? Nevertheless, I don’t seek Ferris wheels out because of their excitement.
Rather, I find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the
park. You also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

How are the carts kept vertical on the Ferris Wheel?
1. A man has to hold on to it to keep it vertical.

2. Gravity keeps the carts upright.

3. It rotates around an axis.

4. There is a machine that keeps it erect.

Correct Answer :-

o Gravity keeps the carts upright.



13) Choose the appropriate tense to fill in the blank in the given sentence:
Recently, scientists a new element in chemistry.

1. will discover

2. discovered

3. have been discovering

4. have discovered

Correct Answer :-

» have discovered

14) Choose the appropriate determiner to fill in the blank in the given sentence:
Siva spends ______ of his time on photography tours.

1. little

2. few

3. many

4. most

Correct Answer :-

15) Rewrite the following changing the passive sentence to active.
The rust was removed by acid treatment.

1. Acid treatment removes rust.

2. Acid treatment removes the rust.

3. Acid treatment removed the rust.

4. The rust were removed by acid-treatment.

Correct Answer :-

¢ Acid treatment removed the rust.

16) Choose the right tag:
Neither of the workers was happy with the new rules & regulations, ?

1. were they



2. wasn’t they
3. weren’t they

4. did they

Correct Answer :-
* were they

17) Choose the right tag:

Hemingway has written short stories as well as novels, ?
1.isn't he

2. hasn't he

3. didn't he

4, doesn't he

Correct Answer :-

» hasn't he

18) Choose the option that substitutes the given phrase appropriately.
A keeper or custodian of a museum

1. Supervisor

2. Administrator

3. Ranger

4, Curator

Correct Answer :-

e Curator

19) Choose the appropriate prepositions for the given sentence:

Every year ______ the United States, accidents claim the lives ____thousands ______ people.
1.in..of ... of

2.in ... by ... for

3. through ... in ... of

4, for...in ... of

Correct Answer :-



20) Choose the appropriate antonym for the highlighted word in the given sentence.
Our body absorbs nutrients from food as it goes through the intestines.

1. spurns

2. endures

3. accepts

4, allows

Correct Answer :-

e spurns

21) Choose the appropriate conjunctions for the given sentence.

This cookie is not good, it contains chocolate chips __ nuts.
1. whether ...or

2. neither ...nor

3. as many ... as

4, either ... or

Correct Answer :-
¢ neither ...nor

22) Choose the appropriate option that rewrites the given sentence in its passive voice.
Sachin hit a century in the final match.

1. Sachin was hitting a century in the final match.

2. A century was hit by Sachin in final match.

3. In the final match, a century was hit by Sachin.

4. In the final match, a century was hit.

Correct Answer :-

* Inthe final match, a century was hit by Sachin.

23) Choose the appropriate tense to fill in the blank in the given sentence:

By 2100, the world’s population to around 30,000 million.



1. will increase
2. will be increasing
3. will have increased

4, was increased

Correct Answer :-
o will have increased

24) Choose the appropriate synonym for the highlighted word in the given sentence.
Our life span is restricted.

1. limited
2. without any limit
3. full of control

4, cramped

Correct Answer :-

¢ limited

25) Choose appropriate articles for the given sentence:

When ____ student finishes college, he/she receives ___ bachelor’s degree.
1. no article required ... a

2.a..a

3. the ... no article required

4. the ... the

Correct Answer :-

26) Choose appropriate article for the given sentence:
Mr. Tony became Principal of the college in 1998.
1. no article

2.a

3.an

4, the



Correct Answer :-
e no article

27) Choose an appropriate modal for the given sentence:
We respect our elders.

1. can

2. may

3. might

4. ought to

Correct Answer :-

e oughtto

28) Choose the most suitable pronoun for the given sentence:
The children read the book but remembers the title.
1. something

2. someone

3. no one

4, everyone

Correct Answer :-
¢ 1O Oone

29) Choose the option that best explains the highlighted expression:
The fact that today is her birthday slipped my mind.

1. my words slipped

2. used wrong words

3. forgot about it

4. forgot to choose the right words

Correct Answer :-
« forgot about it

30) Which of the following options best combines the given sentences?



Harry is very old. He is an unhappy man.
1. Harry is so old and unhappy man.

2. Harry is a unhappy old man.

3. Harry is a very old and unhappy man.

4. Harry is a old and a unhappy man.

Correct Answer :-

e Harryis a very old and unhappy man.
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o« Shell & &9 &

27) & 3MHIA FT qOIT FIT §, g2l FT quT FIQ &, TR F1 0T FQ §1 W Has F quieT Hsf
frelt & fram 32 Fras F RN sEen F1$ qw JE FA, Fas F MWW Te@T Aar §, FI3 ASX @ IS G

39 R W A=z 33, 77 F F st 3reer A werar 3 ST Az F P A e @
Al 75 W Furd ¥ Rreg deryar ¥ @ At g 3@ T Fras F 3o wA WS A ¥ e
ﬁ:mmmmw%lmﬁmw aﬁaﬁrm“memwa‘saﬁﬂ?ﬁm*

1 WE 193 F R 1 wiE w0 § FAO awt A ol #F ww gr Bed ¥ wdat & fv ué’r'
qed THE ¥ WY A3 HT Y IR 3w AuT FT CHT AL FT O 3T A ar 3@ aAT FE

ot @e GU-gU B I g1 W A, Frag F AN dd @ 99 913 S B
39T AGHY FT GGHT AT q& AT YT FT 3 qASA:

32?&%



el - ' FT Qe 4T 87
1. ga

2. TR

3. 9g7F

4. AT

Correct Answer :-

28) FH HIHIT FT JuiT FIA §, Jedt F1 qoiar F &, FTamert 1 aviq =S j1 W s
m#m#m#hmﬁémaﬁmmﬁamm g &, FU3 & o &
mﬁamrwaﬁassg,ugﬁmaﬂaﬁmaﬁmaﬁrsmﬁvm#mmﬁm@
Al a7 §9 IUd ¢ g deedar & @ @Y &7 €A T fras A o FA dleed 7@ 1 Ted

& fras F1 T W%IW#WFW@IMWWQWW%WW#

&7 U9 fEs & Wmm%lmﬁmﬁm#wgcﬁza#ﬁm# zr@r'
95d T9E ¢ B aF gHT ot IRy 3u fras w1 v S F O 37 9 aF 3@ aHT FE

e gu-ger g I §1 W, Fraz 7 A IS § w9 R e g
3YYFA ST FT IGHT AT T AT YA FT IR TS

yesl - Furd F1 ReA g ¥

1. 39Ty

2. #iifcs

3. 8T

4. fead

%ﬁ
g

ﬁaﬂ’ﬂaﬁw

Correct Answer :-

29)wmrmmm%,?ﬁmmm%,mﬁmmm%lwﬁaga:ravhamﬁ
Y o fFar 3?7 fg & W s FS gHe g 2 ;
39 iR 9T A=E 3T, I8 fFd Fr oot s=or maﬁrs@ﬁvﬁw#ﬁvmaﬂmﬂﬁaﬁ
gl IE w9 e ¥ freq deryar & 9 At g AW B fras A Fo FH wled ad 1 S O T@
fF g &1 @1 W%Imﬁ#mﬂmaﬁﬁzﬂmﬁnm@zn%ﬁmﬁm#
& 9 fbs F Wmm%lmﬁmaﬁm#wwm$aﬁ?ﬂ$ IH
Ted THE ¥ BT AT gHT Y IR 3w AT FT U I FT T I A ar 3@ awAT FE + @
e ga-ger g I §1 W, Fraz 7 A IS § w9 R o g

3YYFA ITCATA FT IGH AT T AT YA FT IR qABA:
gee - s H FAT-FIT MAT & hdT & ?

1. F1$, Mg, el A, Mex, aeh

2. 517 § FIS QT

é‘i«i



3. 4fA, §Tg, dTee, W
4. P Y3fT, I, W3 TFY, HioH

Correct Answer :-

30) FH ATHTA FT oIl FXA ¢, qeal & Jofed %mmmaﬁam%lwmwaﬁamﬁ
e F frar 32 s F W staer 1 gdg A& T, Frazg X e gar § Fug A @ o
mﬁeﬁwwaﬁaga?,ugﬁsﬁaﬂﬁmaﬁmaﬁrﬂﬁv#ﬁgﬁmﬁwﬁﬁw@aﬁraﬁ
a?mugwumeihﬁa—crm#ma?gwmﬁ:m#mmm@aﬁ%lqﬁ?ﬁvrs'

E’QT—E}I‘ETGI'I?T%IW#I mmmaﬁﬁwﬁmm%l
3YYFA TSN FT IGHT AT TS AT WA FT 3R T8
vReT - Y FT T § F471 a9 § 7
1. Blehat ST T
2. 81 glel &1 T
3. fAedy & T
4. E FT T

Correct Answer :-

o TAEE &1 T

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton’s law in class. He
then asks students for simple examples that prove the same law. Which

ability is he trying to develop? / WﬁT&W $&nﬁw%ﬁuﬁraﬁwﬁa
Y1 & fore v yanT yelRia $3a1 g1 a8 fhr S @ IRd eI & forw
Fgdl ¢ Sl G 1| Iifad #3d g1 a8 f5a emar &) faefiia &1 31
IR B [T 8?2

1. Acceptation or rejection of the hypothesis / R eIl <l Q%ﬁaj% g7 3-1@?%
r

2. Flexible and divergent thinking / eTell 3iR fafesr fider &r
3. Express the task in terms of goals / T&3T o el H T & cTFd Flal T
4. Correlation between various phenomena / Taf@ee ge=T13it & o TgHa &1



Correct Answer :-

. Correlation between various phenomena / [af®esT G131 & &ia AgH I

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for

analogies and comparisons. What is its significance? / o GRS Acd-Fall AT
&1 3941, FROT AT wemE F AT fFar sar §, 3@ 9w v fe-dT @7
39N, FTIar3it AR Joransit F fow frar Srar &1 3w Agea F4T §?

1. Effective method in teaching science / TaaTeT TA&TOT & gHTGT |
2. Creates a playful mood / 3TTelfeed HAIGRT FATdT &l

3. Improves quiz abilities/ AR &THATAT & YR HIT gl

4. Improves comprehension power / GHST QT I deldrl %I

Correct Answer :-

. Effective method in teaching science / TaaireT fRIeIoT & gaTaT adiahr|

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the
direction of the magnetic field same, the current through the conductor is reversed. What do
you observe? /

fega ams Yaos F tF GA e 8T # AT W9 & @1 16T g1 gEh
&7 F faur F FAS @A g, gAerF F AeAH F faggd F see R3r Swr 71 s
F1 @a

1. The force acting on the conductor will be doubled. / W YY ofdl gl dof alﬂolo‘-ll ET
ST gl

2. The force acting on the conductor becomes zero. / W G ofdT Y&l &l [T BT IGI

gl
3. The conductor will remain in the state of rest. / W TOUH 3gear H Q%TITI

4. The direction of motion of the conductor will be reversed. / W Frafa i e &r
3dfc fear Srar gl

Correct Answer :-

« The direction of motion of the conductor will be reversed. / W drarfa & ferr o
3ol fear arar g1



What happens when two balloons rubbed with a woolen cloth are brought close to each
other? /

FIT T & I« & eaR TF Joll FYS & WEH T AT F FAG AT ST 82
1. They repel each other./ d Ush-g& &I ¥ #id &1

2. They attract each other. / d Ush-gER &l T Hd &

3. They stick together. /9 Ush-gaX & 9% & ¢l

4. They neither repel nor attract each other. / 3 1 8 Teh-gaR &1 3R fIBRd gid § 3R 7 &1 i
gId B

Correct Answer :-

« They repel each other./ d W—Z‘@i’ #r faelNa Fa gl

5) What happens when a glass rod is rubbed with silk? /
FIT g1 & 9 U &g T S5 I WWH & WST AT &2
1. Glass rod becomes negatively charged and silk becomes positively charged. /
T S RHOMcH AR &1 STl & 3 WA eAlcAsh AR g S gl
2. Both glass rod and silk become negatively charged. /
T s 3R WA el HOMcAs ARG g1 Sd &
3. Glass rod becomes positively charged and silk becomes negatively charged. /
AN S YD SR B St § SR XWH BUHS AR Y SIIerl 3

4. Both glass rod and silk become positively charged. /

TG IS 3R I ST Y-THD MR 81 9 g

Correct Answer :-

» Glass rod becomes positively charged and silk becomes negatively charged. /

T IS YD ARG 81 o) § 3R YW FUreAss Mafid g &irar 2

6) A fine powder is sprinkled on the carom board because it ./
TH A 93T 1 FA a1 W BgH1 a1 § FAF I8

1. increases the friction /‘cTGTUT &I dal ear %I

2. Reduces the friction / E¥UT &I &d HT T gl

3. gives correct direction to the striker / ¥€ISh{ $r Fer TR ¢ar gl



4. reduces the effect of gravity/iﬂfﬁ F THTT Pl HH X Tl gl

Correct Answer :-

« Reduces the friction / ENUT &I & T &l gl

7) How many naturally occurring amino acids are there? /

Ypfa® T @ 3ot g ardl RS 3T fhaa gHR & g1 82
1.22
2. 16
3.20

4. 18

Correct Answer :-

20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle
of reflection for the red color is: /

Ife A%he ghrer 1 vH T 30° F HIAA FIT W TH A 90T 9T g3l g, ar
darer W1 & yfafes &1 For &

1. 30°
2.15°
3. Greater than 30° / 30° ¥ 31

4, Less than 30° / 30° ¥ &H

Correct Answer :-

« 30°

9) Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get
diseases like i

Y UF ST # AT §, @ O F I A g g e ¥ 39
St AR @ A gauran@FETEE) B

1. tuberculosis / &TIRNT
2. measles /| @I

3. chicken pox / TdH



4. typhoid and cholera / TSHIBS 3R Pl

Correct Answer :-

« typhoid and cholera/ TEHIBE 3R Pl

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length
10 cm. What is the size of the image obtained? /

TF 3 FH IS I aq F 10 WA BiFe dFars ad TF Iqd o9 & 15 @A
# gt W @ AT §l Iod SR FT FER F4T §?

1.2.5cm / 2.5 A
2.6cm / 6 HHY
3.3cm / 3 QAT
4.9cm / 9 QY

Correct Answer :-

e« 6cm / 6 THAT

11) Which of the following statements is true regarding sound?/
ffaf@a & ¥ #la-u1 Fya @afd & vt § gw &
1. Sound is a mechanical wave which needs a material medium for its propagation./

eqfel Teh IAh 9T g, o 30% YR & fov e $Hifas aAregs $r 3maegsdr
gicil &

2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./

egfel Ueh JifFsh AT &, o 30 AR o v $Hifas #megsd $r magedr da
gic &

3. Sound is a mechanical wave, so it can even pass through vacuum./

egfe U Iife T §, 3afav I8 fFata & #Aegd & Y 3R 9R ST Ihat &
4. Sound is a transverse wave. / @ U& IR R g
Correct Answer :-

« Sound is a mechanical wave which needs a material medium for its propagation./

tqfel Teh Ak 9T g, o 30 IR & fov e sifas aAregs $r smaegedr
glair gl



12) Which of the following can be used to make the inverted image erect? /

3¢ yfafara & e FF & v FAafef@a & @ 59 &1 393 FA1 71 gHhdr
e

1. Concave lens / 37addl o F
2. Plane mirror / THJ GUOT
3. Convex mirror / 3def &quT
4. Convex lens / 3deT ofF

Correct Answer :-

« Convex lens / 3deT o9

13) The amount of light entering the human eye is controlled by: /

AT aF & YA FI arelr WElt H AFT 3EF @R IR g @
1. Iris / IRATRERT

2. Cornea / hIfetdT

3. Pupil / Gfell

4. Retina / Y&t

Correct Answer :-

o lris / IRATERT

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths
because: /

A FH goF T F FUS H §7 30F INHCHF AgHH FII § FH T8 W &

Fus &

1. Light coloured cloths absorbs more heat radiation/ g T & &Ys, 3T > fAfor
I ITMVT AT B

2. Light coloured cloths absorbs less heat radiation / oo 3T & $U3s, HH 3SH TIfHIOT &I
TN T +A gl

3. Dark coloured cloths radiate more heat radiation /?I%')C T & Eﬁqg 378 FoT ﬁﬁwTUT,
CENGEETGR
4. Light coloured cloths absorbs more moisture / 8¢ I & HUS 3w TH BT TN Hd B

Correct Answer :-



« Light coloured cloths absorbs less heat radiation /6«35 T & eh‘-ls\, A 37 FfHor &1
ITMW™T FIA gl

15) Why are large poultry farms constructed? /
a3 Fage/t vt F1 Gafor w4t frar s 32
1. To raise broilers for chicken meat in large numbers. /
ReaT 7T & T 95 T 7 SiseR Je & fou|
2. All the above facts. /
3ugFd |l I
3. To develop very good hatchery for egg layers, in large numbers. /
IS TEAT H 33 F Rl & T g ST e [FHAT FA & ol

4. There is low maintenance requirement for developing poultry. /

FHageUTe & [dHN & ol 1 IWRWIG B SaIHdl gidt 6|

Correct Answer :-

o All the above facts. /

ELPCR IR U]

16) If a grass hopper is eaten by a frog, then the energy transfer is from /

Ifg T fess A HAew @ AT B, A FHH FeAT FAAGIOT T &-

1. Producers to decomposers. /3c9TGepl ¥ 3TT€CHl H

2. Producers to primary consumers. /3cdlGenl & UTATHG ITHIFATIT H

3. Secondary consumers to primary consumers. /aj%rcﬂw 3TATFATIN & grafAs
ITHIFATHT H

4. Primary consumers to secondary consumers. / GraifHe ITHFATIHT & m
ITHFATHT H

Correct Answer :-

 Primary consumers to secondary consumers. / qUAS STHFABT T aj%?hw
EREICTIC I

17) Tincture of iodine is made by dissolving /

IMNAT FT AR T & F FY 9T FT =T FGT &



1. Todine and sodium chloride / 33T 3R WRZIH FeRBS

2. Iodine and potassium iodide in ethanol / 32)?|T<—»r H AR 3R gl amaEEs
3. lodine and glycerol / 3TAE 3iR Ferier

4. Todine and water / 38T 3R dreir

Correct Answer :-

« Todine and potassium iodide in ethanol / VAT H IAEIA 3R TRRNTH IS

18) Find the incorrect statement /
Tdd FYF A HIfAT
1. Butter is separated by churning /
AFE FY @RI 3T fhar S g
2. Components of a mixture change their properties when mixed. / =

U AT & 3agd o AT fRd Srd €, ar 3de ol i sgerd B

3. A pure substance has a fixed melting and boiling point /

Teh Q[ Uary &l Teh AREA aToielien 3N FaUstieh B &
4. Milk is a mixture /
o Ueh TAHT g

Correct Answer :-

« Components of a mixture change their properties when mixed. / =

U AT & agd o« AT R Srd €, ar e ol i sgerd B

19) Freezing point and boiling point of pure water at sea level are respectively: /
TAE TR W ey od & faiw 3R Fagais wawfasr ¢

1. 09C and 100°C / 0°C 3i¥ 100°C

2. 37°C and 100°C / 37°C 3R 100°C

3. 49C and 100°C / 49C 3iX 100°C

4. 100°C and 0°C / 100°C 3fRR 00C

Correct Answer :-



« 09C and 100°C / 0°C 31T 100°C

20) Identify the displacement reaction which will not take place. /

Y faruger af@fwRar S afea a@ gl 3w ggETeT M

1. Copper metal dipped in FeSOy(aq). / PR 8T FeSOy(yq) " g §31 gl

2. Iron metal dipped in CuSOy(yq). / TNE HTT CuSOyqeq). H FST T3 &l

3. Magnesium metal dipped in ZnSOy(,q)- / Heahforga 8T ZnSOy(q)- H g §31 gl

4. Aluminium metal dipped in CuSO4(aq). / TCIHIRIH U CuSO4(aq)- H T T3 B

Correct Answer :-

« Copper metal dipped in FeSOy(aq). / PR 8Td FeSOy(yq) A ger §3-1T gl

21) The dimensions of torque are: /
AF & WA &

1. [MLT ™}

2. [M2 L?T?]

3. [ML2T?]

4. [ML2T2]

Correct Answer :-

« [ML2T?

22) The process of depositing a layer of any desired metal on another material by means of
electricity is called: /

fasrel & aAregsr @ et Tifda a1q f wa P T A | AT FS A
gferdr & Fgr Jrar &

1. Electrification / ﬁ?ﬂ?ﬂw

2. Electrocution / %ajga 7Y

3. Electroplating / ﬁ'c{ﬂ?l@l’q?-r

4. Electrolysis / ﬁa}g?r A9gcsd

Correct Answer :-



« Electroplating / ﬁaj{:l:?l@fq?-r

23) The Science Teacher brought a white solid (X)to the class and informed the students
that she had used it for cooking at home. When students touched the solid with wet fingers
and rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator
paper blue.Identify X./

e et Fam A wF THg 3 (X) T TE o A AT FAT F 5w W R
T 99 & AT sHaT 39T fFar o911 59 8@ o el 3afeat F iy 39 a9

¥t frar e Sarfoat & i A @ WisT, @Y 3% T§ WG ST 9l SHe el

foera go& T A it Aid W1 F T f@wm X F ggEEi

1. Common salt. / TYRUT THh |
2. Sugar. / diT|

3. Baking powder. / SfehaT U13sT|
4, Maida powder. / #H&T d1387|

Correct Answer :-

« Baking powder. / SfaT 913X

24) A base among the following is: /

Arfe@aT & 4 tF &R T
1. CuO
2.CO,
3. S0,
4.NO,

Correct Answer :-

e CuO

25) Calculate the mass of MgSO,4 which will contain the same number of molecules as
contained in 10.6 g of Na,CO;.

[Atomic masses: Mg=24u,S=32u,0=16u, H=1u,Na=23u,C=12u] /

MgSO, ¥ 3 Fegata $1 aorar R, fowed AR sropat i @&am, Na,Co; F 10.6
aw # fafea ot i FEar F wwe el



[TATI] geqATeT: Mg =24 u,S=32u,0=16u, H=1u, Na=23u, C=12u]
1.12g / 12 1A

2.10.6g / 10.6 I1H

3.120g / 120 ImH

4.01G/0.1G

Correct Answer :-

e 12g /12 IMH

26) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what
change is seen in the volume of the solution formed? /

#FT F T 717 50 FAeelexr gt & 7 10 I A st} s & e are §
ar AT Reas i A= 7 Far aRads @1 sar 82

1. Volume of solution decreases to 40ml. /
feaar &1 3maaa 40 Pelieiier d& gc ST gl

2. Volume of solution remains the same at 50 ml. /

fAeIsT &1 3Iad 50 ANl WX TATT I8dT gl

3. Volume of solution increases to 60 ml and then decreases to 40 ml. /

Qo &1 3IdaT 60 fAcielley d% §¢ JTar & 3R T 40 fAciellet a g Jrar
gl

4. Volume of solution increases to 60 ml. /

eI &7 3IdeT 60 fAdeley de d¢ ST &l

Correct Answer :-

e Volume of solution remains the same at 50 ml. /

AeTeT &1 3aaeT 50 fAeNellet 9T TAT EdT gl

27) Why is it not possible to break the stream of water from an open tap by moving our
finger in between the running stream of water? /

gl A 4RI & T gAY 3Tl B gAR § gA do § A aelt dr arr w dgen
T F4AT 8T &2

1. It is because the speed of the moving stream of water is very high. /

T AT FifH gl B arfereer aRT iy wfa sgd A g R



2. It is because the size of water molecules is very small for our finger to pass in between them. /

T SEfAT FIH I & AP FT IR AR 39Tel § g oA & v agd
&1 BT 81T ¢

3. It is because the water molecules are held together by forces of attraction. /
SHHI HRUT TE § foh el & 3707 HThYOT el @RI Toh gl & &9 8id &
4. Tt is because the stream of water experiences gravitational force of attraction. /

UHT SAfAT FIfh el Y URT JocalehyoT Fof I 3efeid FIc g

Correct Answer :-

« It is because the water molecules are held together by forces of attraction. /

SHHI HRUT TE ¢ foh Il o 3707 HTHYOT el @RI Toh gal & &9 gid &

28) Which among the following is a positively charged sol? /
farafaf@a & ¥ ¥ yoens & § 3T vF e 82
1. Arsenic sulphide / 3TH i AoHISS

2. Clay/ et fATEr

3. Gelatine / ToTeléleT

4. Aluminium hydroxide / TegHITH FTSSIFHISS

Correct Answer :-

 Aluminium hydroxide / U’Fﬂﬁﬁ'ﬂﬂ JEE{CRIES]

29) Which one of the following methods is used by you to control growth of weeds in
agricultural fields? /

F aHl F TIaar! & fFw & Rt s@ F v e § @ e B
&1 3UANT 39 gaRT frar ST 82

1. Maintenance of hygiene / ¥ITSdl sl LW

2. Prophylactic treatment / JITfaRIeT 3TAR

3. Intercropping and crop rotation / SCIGPITIIT 3R H&HeT ThoT
4. Genetically modified crops / HT@H@H’T & gNfad wEel
Correct Answer :-

« Intercropping and crop rotation / saafl’ﬁw 3R wer ThuT



30) Which one of the organisms is likely to have maximum concentration of harmful
chemical DDT in the aquatic food chain consisting of King fisher, zoo plankton, fish, and
phytoplankton? /

fFafmR, witrcaas, Ao, v RUTdas @ T AT TR AT A FiT F H
T & grfeR® TRIRAF NN N 3RWHaA Figar = Hr FoEaT En?

1. Fish / #GoIT

2. Phytoplankton / 91¢9 Toldeh
3. King fisher / faTfther

4. Zooplankton / BIYINEED

Correct Answer :-

« King fisher / faharfheR

31) Which two of the planets mentioned below have CO, as the major component of their

atmosphere?

Earth, Venus, Mercury, Mars, Jupiter . /

A T are &Y 7El F § fFud agHsT F YHE@ geF F T A CO2 B2
TR, 3, U, T, Fewta

1. Venus and Mars / j[sh 3R FHe

2. Venus and Mercury / [sh IR Lol

3. Venus and Jupiter / *[sh 3R EETCT%

4. Mercury and Mars / §9 3R Fare

Correct Answer :-

o Venus and Mars / Qﬁ 3R FHIrer

32) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted
with dilute H2S04? /

9 W WewIss H ANFRAT 9 H,S0, F W FUE J1ell § a9 AT ey & FieA-
@ 3 qFT gl B2

1. Cl

2. SOz



3. 503
4. H,S
Correct Answer :-

. H,S

33) Two unequal resistances joined in parallel are connected to a cell. Which of the
following statements is true? /

ar IEATT oY FHER ¥ & 3 ¢ I wF Ja @ wAfoa &) Aefaf@a & @
FIT-UT FIT T &2

1. Potential drop is same in both. / Td%T IdeT gl H TAT gl

2. Potential drop is less in the smaller resistance. / B¢ IfcRIer & [9%a gdeT & gl
3. Current is more in greater resistance. / g2 gfaQer 7 orr 319 B

4. Current is same in both. / 8RT T & AT &1

Correct Answer :-

« Potential drop is same in both. / TdHT IdeT il H TATA gl

34) displaces zinc from ZnSQy solution. /

ZnSO, Reas & iw &1 AeyrasT Far ¢
1. Copper / draT
2. Lead / €r&ET
3. Iron / 3TALA

4. Magnesium / HINTTaT

Correct Answer :-

« Magnesium / HIANTATH

35) What test measures, through tasks, the ability to apply the skills and
knowledge learned? / ®lsT TT Y&TUT H1EAT F ATCIH A, lerer 3T AT
AR F HT aHT W@ Fr AT 2

1. Breadth test / zﬁgé q{T&ToT



2. Power test / ITed II&ToT
3. Speed test / 31T GIr&ToT
4, Performance test / El—c\"%TH qreyoT

Correct Answer :-

. Performance test / 9&2TeT G{I&TOT

36) I earner-centered assessment process does not focus on: / ﬁ'&iﬁﬁ-ﬁ?ﬁﬁ
o gfRaT 9T Ffga a8 8 81
1. Assessment of learning / 3TT9I9T# Rl 3MTeholol

2. Assessment for learning / 37T & T 3fTehelaT
3. Learner’s individual performance / Tt &1 safadera gl

4. Learning the process and experience instead of learning the product / 391G &

3fRer dr o ufshar 3R 3egera s ifeeTe

Correct Answer :-

. Assessment of learning / 31T9TH T 3Teholed

37) Raj pets a dog behind its ears because he saw his father doing it. What type
of learning is he exhibiting? / {TsT Ueh iﬁ' H IS Fl & NS A8 AR
HIAT ¢ FIfF 38 39 ar i ¥@1 FIG Q@1 U7l 9% g TER F
T FT veT F W '

1. Instinctual learning / #HeT FdcdTcHeh JTRETH (SEFCYIT oAfeidl)
2. Observational learning / F&T0T 3TTRRTH (3TeaTaRleel feidn)

3. Socio-cognitive learning / TTHATGIh-HATATcHSD I (HIAA-PIIaiITed
oTfeiaT)

4. Latent learning / 37cgard TR (eice dfeidn)

Correct Answer :-

. Observational learning / YeT0fT I (TeAdAqT ATeldT)



Which of the following is a myth about science? / @&ifaf@a & @ P-4
fose & aR & & BAyw &

1. Science is perception/ fa=rer AT Bl

2. Scientific knowledge is absolute / dTTeeh AT @RIET &

3. Science is dynamic and tentative / f[a=ieT arfaefer 3R Fsnfaa g1

4. Science and its benefits are universal / Td3eT 3R 8% T granifds

Correct Answer :-

. Scientific knowledge is absolute / 331T{eier AT FRUET Bl

39) Which type of memory stores information relating to ourselves? / f&&

YHR A T & § gafta et AT S 87
1. Autobiographical memory / TcHBATcHD Q—T([ﬁf

2. Episodic memory / IT& {3 H:[ﬁf

3. Biographical memory / Sildeileh Q—T[ﬁ-l'

4, Declarative memory / HYUTTcHG Q-Tcl:ﬁ

Correct Answer :-

« Autobiographical memory / ATcHSATcHSD Fﬂ:ﬁf

40) Akash will reach his school in 15 minutes on his bicycle. If he rides his
bicycle with an average speed of 3m/s, then how far is the school from his
home? /

I T 39 AEfea 3 Hex / AFe A itwa afa @ Torar §, ar 98 g
e @ 15 fAee & U= TRHo Tgaem, A IS W ¥ TR el T &7

1. 2700m/ 27000
2.270m/ 270 Hro
3. 45m/ 45HTo

4. 450m/ 450 HYo

Correct Answer :-

« 2700m/ 2700&To



41) What are the advantages of keeping an apiary? /

AYUTRITET ¥ & o1 a1y 32
1. Honey is widely used all over the world. /

UEE T YA TAEgd §9 & QU gfadr # giar g
2. Bee keeping is a low investment scheme. /

FALAFHT ITelel TH IGE RGENR GRS

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

UAGe & HAGUT & AU & N9 3eeeat & fav off FyAA g FyAFE ol HY
3¢9 § 3R Fh & v AR 317 ame §

4. Bee keeping does not need much investment and can be grown anywhere in the garden or
even on roof tops. /

AYAFE! Tefel & ToIU 3T fAer 1 maegehdr w81 § 3R & T a1 o, Hel
aﬁ%ﬁm%mmm%

Correct Answer :-

» Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

UG & TIEUT & AU & I 3egedt & fAv off HUAT g HAYAFE drolel Y
3¢ § AR P & fav faRed smr amwe §

43) “Assessment is both reflected and reflecting process” In this statement, reflected
and reflecting words are used in reference to respectively. /

"3ATH A, uﬁa@m(ﬁuﬁm)&ﬁvuﬁ%ﬁamﬁ(ﬁqﬁﬁwnﬁmﬁ%l"




39 ®YF ¥, yRaféa (Reaats) ik ufafdfaa #33 (Rwafad) o ufthar wrssi &1
SUYURT HHI: MR_ FueHAfrarwmargl

1. student’s feedback, teacher’s feedback / ST I Qﬁ'ﬂﬁ, foreTs &r Qﬁg'fed'

2. student’s performance, teacher’s performance / &IF ol g, forere &1
e

3. teacher’s feedback, student’s feedback / et &r W, BIE G Qﬁg'fed'

4. teacher’s performance, student’s performance / T&T& T ge2ld, BT Fl
e

Correct Answer :-

. student’s performance, teacher’s performance / ST &bl QZ‘CQTH, fereteR &1
gl

44) What is the duration of kharif crops. /
TE B P af wr g2

1. June to October. /oj\o-l pe AFCST dh

2. March to September. / AT & Qe d&
3. November to April. / Ta%R § 30d T

4. October to March. / 3/FEER ¥ ATH ddb

Correct Answer :-

+ June to October. / S[ai a AFgsT deh

45) The correct statement among the following is: /

faddadft sy &:

1. Dry ammonia has no effect on litmus paper / [%h IAAAT T foleAmd TR TR FIg JHAT
CACES

2. Curd is basic in composition / cer TASTT H &I %’

3. Solution of glucose in water is acidic / 9Teil & d(j\qw\ld Fr AergeT 3T &

4, HCl is a weak acid / HCI Tah ??—l’ IFT §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / ASh AT Fr foled T IR W Fig IHT
SHICES])



46) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is
done. Find the potential at that point. /

% faggd &7 ¥ 3Fd A 5C BT 1% TS fig ab @M & 1Y, 50 @ &1 &rd fban
wraT 31 39 fig R fava gma &3¢

1. 250V
2. 25V
3.0.1v

4. 10V

Correct Answer :-

« 10V

47) Two forces are acting on a body such that the angle between the direction of
application of the forces is 60°. The minimum number of force needed to keep the body
at rest is:

3 99 te fpra R o1 #3338 € 9 fF 9 & SrwaiT 35 farn & ot &1 #iur 60
o 31 fFopma & favm W T & e emazas gAdaw B 99 §:

1. Only one force / Hhdol Teh dol

2. Two forces / & &of

3. No additional force is required /aﬁé JaREFd g 39T a‘-@l’ %’I
4. Three forces / e o

Correct Answer :-

« Only one force /Hddl Teh dol

48) Amplitude of vibration of body is the deciding factor of :
| T & $uA & A 1 fAvfae RS 3:

1. The quality of sound produced / 3cUTiGd €afe hr 0T T

2. The intensity of the sound produced / 3cdTfiGd &afer Fr draar
3. The period of vibration / &YsT T 37aTer

4. The frequency of sound produced / JdTfed @i BT T

Correct Answer :-

« The intensity of the sound produced / 3cuTfed €afel &T draar



49) Ecosystem is constituted by /

uiRfRufae &= &1 fwfor foe & gian &:

1. Dead organisms / §d Sia

2. Only biotic components. / hdel Sifdeh €T

3. Only abiotic components / hdel 3Toifdeh Tch

4. Both biotic and abiotic components / Sfdeh 3R 3oifdes gca alar

Correct Answer :-

« Both biotic and abiotic components / Sifder 3R 3oifde gcdh Gl

50) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
U qrg 90 fr i/ ger &) nfa A Mt agar g1 Wex/A. A fpat 82

1. 90 m/s/ 90 HIET/He

2.15m/s/ 15 HEYHo

3.2.5m/s/ 2.5 HICT/Ho

4.25 m/s/ 25 HIeI/Ho

Correct Answer :-

e 25m/s/ 25 He/To

51) A teacher can use which of the following strategies of teaching to complete the
syllabus for a class having majority of students with different learning pace? /Ud

Rrere Srftrei=rd: SrerT-3ra T fd | WEH ard Bl 1 Uh B&T & UToUHH Bl T
1 & fore fRgfafaa & 9 5w orifa o1 Sy &% goar 82

1. Use of ICT resources / 3TSHIET AT T 3TTNET

2. Individualized classes / SATFITT HEITT

3. Conducting tests every week / 8% TCdlg YN&TOT AT T
4. Teaching only limited syllabus / shdel HITAT ITSTHH TG

Correct Answer :-

. Use of ICT resources / 3TSHIET THTAT &l 3TN



52) A-ion containing 18 electrons and 18 neutrons. Name the element A. /
TP AT A" ¥ 18 SATCI 3R 18 eI & | d A T 19 FaT¢|

1. Potassium / GrefRas

2. Chlorine / Fell{leT

3. Nitrogen / #TS¢Iole]
4, Aluminium / Eﬂﬁﬁ'ﬂﬂ

Correct Answer :-

« Chlorine / FellIeT

53) Animal parasites are also consumers. Identify the ecto parasite from the list given. /
U3 gReltdt ff SuHieT gid 81 &Y TS gt | STruReidl ®f uga |

1. Lice / G:f\

2. Plasmodium /CATGAITSIH

3. Pinworm / fO-ep &
4. Tapeworm / BIdTe &

Correct Answer :-

54) A student with a scientific attitude will: / QTP SIYHIUT TTAT TP BT ST

1. Develop independent thinking / ¥ad T AT [ARTAd =t dTell

2. Admit their mistakes only under duress / 3791 ITATAAT I Shdol gald H
AR &l dTel

3. Ignore details irrelevant to the task at hand / 811 H & o & AT 3vraEes
AR &1 3A¢@r LT arell

4. Suspend the judgement after one-time confirmation / Udh-dIX Cal q@ & dlq fAofg
RIFT B aral

Correct Answer :-

. Develop independent thinking / TadT &I fahfAd Fe dTell



55) What is the basic education qualification laid by the Educational
departments of the majority of states for a high school class science teacher?

| T I faerrer ot fagm e & fore siftret=r wreat & QAfére faumn
g1 frertfea gaya Riem avaar w82

1. Bachelor degree in any subject / fhaT &ff fawT # TArds 3™

2. Bachelor of Education / f1&TT & &ATdeh

3. Bachelor of Science / TadTd & &ATdh

4. Master of Science / fa3M H HWTd® R

Correct Answer :-

. Bachelor of Science / TdaTT H TATdH

56) A learner is able to solve numerical on current. According to Dale’s ‘Cone
of Experience’ he has most probably ./ TDh ﬁT&IT‘t’ﬁ YRT (PRC) WX
UBTHS UY DI gA PIA H HH B S P ﬁqwmtﬂﬁuv & AR
dYad: 394

1. read a book / qEdh qer %
2. watched a demonstration / Teh el @1 %
3. role-played a situation / Teh T&UfT & 33@35[ GEIERS

4. heard a lecture / Ush SITET Foll &

Correct Answer :-

. watched a demonstration / Teh J&2ldT @I §

57) Achievement data is collected with a focus on the science content that is
most important for the students to learn. Which of the following facts leads to

a contrary opinion? / SUdled SeT, faF Al R wa= Sfad o1 & A1y
U3 fohar wirar 8 off B & e & e ga9 Aeayf 81 Fufafaa d 9
S 91 a9 faudia g a1 @2

1. Equal attention given to the assessment of opportunity to learn and achieve/
H@el 3R Ied el & HTE & 3Hiheled W TAA €ATeT SaT|

2. Knowing and understanding scientific facts, concepts, principles, laws or theories

[&=Tieter 2T, JraURon3i, Faeurdl, aaAt a1 fagurdr s St 3R



HHSTT|
3. The ability to inquire / J&dT& el I &HATI
4. Focus on intelligent students only / shdel ﬂ?\:@ﬂ'l?—f SET I &I STl

Correct Answer :-

. Focus on intelligent students only / hdol gz;fﬁma SEl I Tl STl

58) Which of the following learning approaches can help a student to
summarize the material for exam preparation? / ﬁ'&lﬁ‘l’@ﬁ A9 GaC| L3
SAFEATH TRHIUN, TH BF B U B dur & e arwft o aRiflkea ww=
H HGq B qHdl g2

1. Experimental learning approach / 9raifater 31f&erer gieeahior
2. Concept mapping / HeheUslT HATIAOT

3. Rote learning approach / Ha€y I giocahor

4. Problem solving approach / THEIT GHTHTA T SChIUT

Correct Answer :-

. Concept mapping / GheTAT HATAFOT

59) The emphasis from teaching to learning can be achieved / fraor &
HTH dF IHAUROT A fAeT g@RT wred fFAm S a@Far

1. by encouraging rote learning / H&TY ITIH FI AT Flh

2. by helping child achieve good examination results / Td &l 37T GO&T
IRUMH 9Icd el H HGG lch

3. by adopting a lecture style instruction / Teh ITEITe el G I 3TATR

4. by adopting child-centred pedagogy / STel-higd TASTATET &I IATHT
Correct Answer :-

. by adopting child-centred pedagogy / STel-chigd TRASTRIMET &I YT

60) Fever is caused due to the /

@R T FROT gl g



1. overgrowth of bacteria / dFERIT FT TR aca{%
2. overgrowth of virus / aRIRA @l 3TcTTddh a‘_EﬁT
3. overgrowth of pathogens / A3TalaTehl T TS E!'E.‘ﬁT

4. body inhibiting the growth of pathogens / R JRTSTAST o fAhTE & UhdT &

Correct Answer :-

¢ body inhibiting the growth of pathogens/%lﬁ? TSt & AT & Aavd %



